tyco

Electronics

PISTOL GRIP TOOL FOR MINI CT CONNECTOR
SZCTaxZFAEARLY =)L
(TOOLP/N: 937317-1)

Instruction sheet
411-5826
19 Mar04 Rev.D

BETEFEROER

FHTEZERMEE EMICEVERTD L
ANEICEEEZEZ DI ENHVET. AMP OF
B L EIIRT, AlE. PEEEOHBIERAL TS
7ZEW, AMP RBEROEAREIZEILIKZ
BLEWLE, BEE2ERLTEVET,

I2CTEA MUY KT vA
MINI CT PISTOL HEAD ASSY

P/N 937318-1

Proper Use Guideline

Cumulative Trauma Disorders can result from
the prolonged use of manually powered tools.
AMP hand tools are intended for occasional
use and low volume applications. AMP offers a

wide selection of powered application
equipment for extended-use, production
operations.

o AN S D S -2 ¢
MANUAL HANDLE ASSY
P/N 58074-1

I=ZCTEARMV V—Ib
.MINI CT PISTOL TOOL PN 937317-1

_Fig.1.

1. UK .

Z OWEBABE, AMP I CT HER ML —
U (937317-1) OB DTN OWTHETSHD

TTO :ﬁﬁﬁﬁmiﬂ‘fﬁﬁﬁ—Fé b,

o ERARSY
AMP 3I=CTax/s%
Fi% 353293-( ]

3. HAER
UL-1571 #28AWG
UL-10272 #26AWG
#WESE 0.8-0.9mm

FERBEIE AMP TEFRFEHHRARSINICA -7

DHOEIEATI0,

4, WBRABRRES
114-5228 BB LUTT &y,

1. INTRODUCTION

this instructions carefully before use.

2. Applicable Connectors
AMP MINI CT Connectors
E"/N 353293-[ ]

3. Applicable Wires

UL-1571 #28AWG

UL-10272 #26 AWG

Insulation Diameter 0.8-0.9mm

NOTE

4. Application Specification Number

This instruction sheet describes the use of AMP
Pistol Grip Tool for MINI CT (937317-1). Read

Use the wires certified by AMP Engineering.

Refer the application specification 114-5223

A4a ILYPAZSR PoTHRai (T213-8535 NIGHEEREAK 3-5-8)
Tyco Electronics AMP K.K. (3-5-8 Hisamoto Takatsu-ku Kawasaki, 213-8535)

CONZOBIROERITRE. TIEABBMOAHECIEEL, This document is subject to change. Call local AMP for the latest revision.

10f8

Revised per EC FJ00-0057-00



tyco PISTOL GRIP TOOL FOR MINI CT CONNECTOR 411-5826

Electronics

937317-1

5. HKE

5.

1) IR ZKRIVE%Fig. 2 OREAFMIZEDL 1)
THHIALUTT X, JOBRHAREMHIT
I HEMEZIENTT I, HEOREE

THET,

Connector holder
axyy wIvy

Operation Procedure

Remove the connector holder from the head
assy by pushing toward arrow direction in
Fig.2. Do not push the holder to opposite

direction to prevent damage to the tool.

. Rev.D



tqca PISTOL GRIP TOOL FOR MINI CT CONNECTOR 411-5826
Electronics ' 937317-1

2) AR ZFNFTIZART 7%y PUTFE 2) Set a connector to the connector holder.

Ve v MHRE Figd KRLUEYS, IR Refer to Fig.3 for the direction of connector.
FEROYMEREIRI I RNVTDIART 7 Set a connector as the set pin of the
Ey PEVIZZLAATTEI W, IXTFOD connector holder goes into left end mating
BESPELOI EEBERELUTTS 0, hole of a connector. Check the direction of

connector again.

%04

Connector

B\
30 Vs
3

ARy y wIVF—

nnector holder

Rev.D - 3



tyco

Electronics , 937317-1

PISTOL GRIP TOOL FOR MINI CT CONNECTOR 411-5826

3) TxIIRNTENy FTRVTViCEY b 3)
LTF&, Figd REIFAIE URAS, 74
Yy MEE ORI FOAWMI—HTHET
B TTEG, BOTERBARRIHME
—ERNTH 52 LABE LT,

Axy FHRNT

BAAR

Insertion direction

Set the connector holder to the head assy.
Insert the holder arrow direction in Fig.4
until the 1st wire slot of connector comes the
wire setting groove. When the holder passes
through correct position, remove the holder
by pushing toward arrow diréction‘ and

insert again.

FF 2y bPYY—2X
Ratchet Release

Rev.D



tyco

PISTOL GRIP TOOL FOR MINI CT CONNECTOR 411-5826
Electronics i 937317-1
4) TA¥ky MEIZ. TLVNEXYB5ET 4) Insert a wire into the wire setting groove

5)

6)

7

ZELAAEZMVUN—ZE > TTF &,
(Fig.5)

EX P VLr—id, RECESNEEXTY
VITRICEDES, COBIXI7I7NV1LE
v FLBEBNICESNEDTL) OfFEER
DELTETOIA VAEELTTE L, E
ZBIWVUN=DRELIINEZIE, EWHIEE
F o TR L. EWdH 728813
SFzw P Y—ZEHUTEEEPTUN
—E2RULTTFIly,

LTOEENIRBT Licoax 7 7RIV ER
HUTTFXU,

AT ERREICTE> T EEREERELT
T&Eu,

TAY

wire

TJAY £y bAHE

wire setting groove

5)

6)

)]

until the wire end touches the end of the
tool. Then squeeze the pistol lever. (Fig.5)
Pistol lever will be back by spring after
squeezing perfectly. The holder (cBnne@tor)
is fed one pitch automatically during the
lever moving. Terminate all wires by
performing 4) procedure. When the lever
does not back to original position, check if
foreign materials are in terminating area.
The lever can be backed from half way by
pushing the ratchet release lever.

Remove the connector holder from the head
aésy after terminating all wires.

Inspect the termination conditions in
accordance with appropriate application
specification.

Ex bV Lsi—

\ Lever

- Rev.D



Tyco

Electronics

PISTOL GRIP TOOL FOR MINI CT CONNECTOR
P/N 937317-1

411-5826

6. EHEELOFYE (Fig.6 M)
DToFETCHETEET,

1) F—%#<

) EAMVIYw TEhF

3) EERESHAERAVERRLCGRS*HAETLE
KET EECRY, EICETEECRD T,

4 PMLI-BLEOFHETHEAN TS,

6. Adjustment of Wire Insertion Depth (See
Fig.6) |

Wire insertion depth can be adjusted in following

procedure;

1) Remove the key from the tool.

2) Remove the head assy from the tool body.

3) Adjust the insertion depth by turning the
adjustment screw. The. insertion depth
increases when turning the screw clock wise.
The insertion depth decreases when turning
the screw counter clock wise.

4) Assembly the head to the body and insert
the key.

EAPN ~y R FTokd

Head Assy

ERESHEERL

Adjustment Screw

Ex b #7574
Pistol tool body

Rev. D



- tyco

PISTOL GRIP TOOL FOR MINI CT CONNECTOR 411-5826
Electronics ' 937317-1
7. Maintenance
1) Clean up the tool with lint free close or
7. RSEAE brush after use.
1  EERETEE. ShOEEESLAENGEDT 2) Check the tool visually for damage, lack of
5y TTRARALTTEL, e T e . machine. o
o s s . eriodically, -a ight machine oil to
2) BETIRCECHROKIE. X VDELH odicatly, rapply ught
. moving surface and pivot pins. Do not apply
ﬁ‘l \i)\n\\ﬁ LJT_F‘é (/ \0. excess Oil.
3) EMEICEBRICEMBEERLTTSI 0, 4) Contact your local AMP office for repair the
LD TEMNEIZUTTFS 0, tool.
4 EEIF. AMP BEBNBH LD TS,
8. Part List
8. HERIRE
FATFLFwri— R=Fri— PRAH NAME
ITEM NO. PARTS NO.
1 937374~1 AR Jws BLOCK,HEAD
2 937375-1 Tye— OyE ROD,PUSHER
3 9373761 AR Tr— STUFFER .
4 9373771 a8 /LA J4—5  iFEEDER,CONN.HOLDER
5 9373781 RiLd PLATE,SPRING
6 9373791 Ay IPp—HAE GUIDE,STUFFER
7 937380-1 AR A BRI HAR GUIDE,CONN.HOLDER
8 937381-1 a4 HRILE T—k  IPLATE,CONN.GUIDE
9 937382-1 RoavtrybTOvy BLOCK,POSITION SET
10 9373831 JRT4 RILE HOLDAER.CONN.
11 9373841 AL — a2k JOINT,HEADER
12 937385-1 EERSRERL ADJUSTERINSERTION DEPTH
13 9373861 aRH4 ybk JOvs BLOCK,CONN.SET
14 937387-1 aARHE yk EX PIN.CONN.SET
15 9373881 24 11— Ows LOCK,SCREW
20 918427-1 =l Towox— BALL.PLUNGER
21; | 1366452-1 EiElER SPRING,.COMP
22i | 918249-3 il SPRING,COMP
23 5-918680-3 EFEY PIN,PARALLEL
24 721650-6 ATYH B PIN,SPRING
25 6-724291-8 AT Y PIN,SPRING
101 7216425 FEH AL M3x12  iSCREW,SOC CAP M3x12
102 1-721642-0 7B 7Tl M3 %X 20 SCREW,SOC CAP M3 x 20
103 2-721642-0 RATRL MAx15  iSCREW,SOC CAP M4x15
104 2-721642-5 = i7NAHfal M4 x 25  iSCREW,SOC CAP M4 x 25
105 5-721644-4 FRATTRE L M3 X GSCREW,BUT HD SOC M3 X6
106 3-751073-8 AL M2x4 SCREW.MACRO SOC CAP M2:
Rev. D 7



Tyco

PISTOL GRIP TOOL FOR MINI CT CONNECTOR 411-5826
Electronics 937317-1
9. HERERE (EXAMY ANy F Tya) 2. Part (Head Assy)

8 ) Rev. D



